THE BIG CHALLENGE – MARDI 6 MAI 2008
NIVEAU 3eLV1 – 3eLV2 - CORRIGES
1. “..........................?” “He's very well, thanks.”


(A) Is Jennifer ill

(C) What does Peter like


(B) How's your brother
(D) How are you
The correct answer is B
“How's your brother?” “He's very well, thanks.”
2. “Where's John this afternoon?” “He ............................”


(A) done the shopping
(C) goes shopping


(B) is doing the shopping
(D) does the shopping
The correct answer is B
“Where's John this afternoon?” “He is doing the shopping”
3. Can you hurry, please? I ........................... much time.


(A) haven't got
(C) doesn't have


(B) am not having
(D) 've got
The correct answer is A
Can you hurry, please? I haven't got much time.
4. Jill ................ with some friends in Scotland for a week.


(A) is staying
(C) stays


(B) is going
(D) went
The correct answer is A
Jill is staying with some friends in Scotland for a week.
5. She put her bag over there, .........................?


(A) doesn't she
(C) isn't it


(B) didn't she

(D) won't she
The correct answer is B
She put her bag over there, didn't she?
6. “Thank you very much for the present.” “.....................”


(A) Never mind.

(C) It doesn't matter.


(B) You're welcome.

(D) None of your business.
The correct answer is B
“Thank you very much for the present.” “You're welcome.”
7. That man is very muscular. He .................. very strong.


(A) mustn't be

(C) must be


(B) can't be

(D) must have
The correct answer is C
That man is very muscular. He must be very strong.
8. Last Thursday, I ........... a purse full of money on the bus.


(A) found

(C) hope I'll find


(B) have found
(D) 'd like to find
The correct answer is A
Last Thursday, I found a purse full of money on the bus.
9. “If you ......... honest, people will respect you.” said Dad.


(A) will be
(C) are always


(B) often be
(D) don't be
The correct answer is C
“If you are always honest, people will respect you.” said Dad.
10. You're very good at public speaking. You ....... to be a politician.


(A) ought
(C) should


(B) might
(D) could
The correct answer is A
You're very good at public speaking. You ought to be a politician.
11. Americans often eat pumpkin ..... at Thanksgiving. It's traditional.


(A) cake
(C) pudding


(B) pie

(D) cream
The correct answer is B
Americans often eat pumpkin pie at Thanksgiving. It's traditional.
12. ....................... decided what you would like to drink?


(A) When did you
(C) Did you


(B) Have you

(D) Are you
The correct answer is B
Have you decided what you would like to drink?
13. “Glove” rhymes with “.....................”


(A) move
(C) above


(B) mauve
(D) prove
The correct answer is C
“Glove” rhymes with “above”.
14. That's the book ....................... at the airport yesterday.


(A) was bought
(C) that was reading


(B) I bought

(D) that I've bought
The correct answer is B
That's the book I bought at the airport yesterday.
15. “............ playing a game of Monopoly?” suggested Jack.


(A) How about
(C) Let's


(B) What if we
(D) Could we
The correct answer is A
“How about playing a game of Monopoly?” suggested Jack.
16. Victoria, Waterloo, Euston and St Pancras are all ............


(A) types of pizza
(C) famous people from history


(B) London stations
(D) British military victories
The correct answer is B
Victoria, Waterloo, Euston and St Pancras are all London stations.
17. He .... dance even after two years of lessons! He'll never learn!


(A) still can't

(C) always does


(B) already can
(D) yet can't
The correct answer is A
He still can't dance even after two years of lessons! He'll never learn!
18. I wanted to go on walking but they preferred to stop .......


(A) resting

(C) and rest


(B) from walking
(D) to resting
The correct answer is C
I wanted to go on walking but they preferred to stop and rest.

19. The magician put his hand in his hat and ........... a rabbit.


(A) put out

(C) took out


(B) took from

(D) turned from
The correct answer is C
The magician put his hand in his hat and took out a rabbit.
20. The ................ go from Canada to the south of the USA.


(A) Great Lakes

(C) Rocky Mountains


(B) Niagara Falls

(D) Shetlands
The correct answer is C
The Rocky Mountains go from Canada to the south of the USA.
21. Have you noticed Kate? Doesn't she ..... sensational this evening?


(A) look

(C) looking


(B) look like

(D) looks
The correct answer is A
Have you noticed Kate? Doesn't she look sensational this evening?
22. Oh, Mum, why did you buy me ................. tie? I hate it!


(A) so horrible
(C) such terrible


(B) such an awful
(D) so bad that
The correct answer is B
Oh, Mum, why did you buy me such an awful tie? I hate it!
23. “What's .............. ?” means the same as “What's up?”.


(A) making

(C) for me


(B) happening

(D) today
The correct answer is B
“What's happening?” means the same as “What's up?”.
24. Emily ... to go skiing today. The doctor says she must stay in bed.


(A) will have

(C) won't be able


(B) will be able
(D) can't
The correct answer is C
Emily won't be able to go skiing today. The doctor says she must stay in bed.
25. Mr Nash, .... car was blocking the traffic, was very embarrassed.


(A) because of

(C) whose


(B) of which the
(D) who had the
The correct answer is C
Mr Nash, whose car was blocking the traffic, was very embarrassed.
26. In British English it's called a lift; in American English it's called ....



(A) a rise

(C) a subway


(B) an elevator
(D) an airplane
The correct answer is B
In British English it's called a lift; in American English it's called an elevator.

27. Small modern cars usually cause ...... pollution than big old cars.


(A) just a few
(C) much less


(B) fewer
(D) more
The correct answer is C
Small modern cars usually cause much less pollution than big old cars.
28. These shoes are much cheaper than ..... in the shop next door.


(A) ones

(C) that one


(B) the ones

(D) the one
The correct answer is B
These shoes are much cheaper than the ones in the shop next door.
29. Cinderella had to leave the ball .... the clock struck midnight.


(A) as soon as

(C) up to


(B) until

(D) at last
The correct answer is A
Cinderella had to leave the ball as soon as the clock struck midnight.

30. There ..... tens of thousands of tigers in India, but not any more.


(A) use to be

(C) use to have


(B) used to be

(D) was used to be
The correct answer is B
There used to be tens of thousands of tigers in India, but not any more.
31. The sergeant was very strict. He ..... run two miles in the rain yesterday.


(A) made the men
(C) has let the soldiers


(B) allowed them
(D) has made us
The correct answer is A
The sergeant was very strict. He made the men run two miles in the rain yesterday.
32. Pronunciation: "permanently" = O o o o; "disappointed" = ........


(A) O o o o
(C) o o O o


(B) o O o o
(D) o o o O
The correct answer is C
"disappointed" = o o O o

33. When we asked the boy..... , he said he was looking for a lost ball.


(A) what he was doing
(C) what was he doing


(B) what did he do

(D)what he did
The correct answer is A
When we asked the boy what he was doing, he said he was looking for a lost ball.
34. The American President will be elected in November 2008 for ....


(A) five years

(C) six years


(B) four years

(D) three years
The correct answer is B
The American President will be elected in November 2008 for four years.
35. “That's a nice crystal bowl.” “You're wrong. It .... but it's plastic!”


(A) looks as if crystal

(C) resemble crystal


(B) looks like crystal

(D) looks like plastic
The correct answer is B
“That's a nice crystal bowl.” “You're wrong. It looks like crystal but it's plastic!”
36. He ..... his favourite show when the TV broke down. He was furious.


(A) was looking
(C) looked at


(B) watched

(D) was watching
The correct answer is D
He was watching his favourite show when the TV broke down. He was furious.
37. Complete the "family" of words: lemon, orange, lime, ...


(A) apple

(C) pear


(B) grapefruit

(D) peach
The correct answer is B
grapefruit
38. After the accident, we saw Ann .... in the street. She wasn't moving.


(A) lying
(C) to lie


(B) lie

(D) which was lying
The correct answer is A
After the accident, we saw Ann lying in the street. She wasn't moving.
39. Which word rhymes with “brought”?


(A) rough
(C) height


(B) caught
(D) out
The correct answer is B
caught
40. “How much do you earn?” “I'm not telling you! ...... business!”


(A) It's always your

(C) Mind your own


(B) You must know your
(D) Keep your
The correct answer is C
“How much do you earn?” “I'm not telling you! Mind your own business!”
41. The plans are top secret. If I told anyone about them, I ..... my job.


(A) lose

(C) will lose


(B) would lose
(D) lost
The correct answer is B
The plans are top secret. If I told anyone about them, I would lose my job.
42. Gordon Brown replaced ......................... in 2007.


(A) Tony Blair
(C) George Bush


(B) Elton John

(D) Bill Gates
The correct answer is A
Gordon Brown replaced Tony Blair in 2007.
43. Paul ...... that email for half an hour and he still hasn't finished it!


(A) was writing

(C) has written


(B) has been writing

(D) has been written
The correct answer is B
Paul has been writing that email for half an hour and he still hasn't finished it!
44. “Share” doesn't rhyme with “........................”.


(A) bear

(C) star


(B) care

(D) there
The correct answer is C
star
45. Canada isn't in .........................................

      (A) the northern hemisphere
(C) the United Kingdom

      (B) North America

(D) the Commonwealth
The correct answer is C
Canada isn't in the United Kingdom.
46. If I were you, ..... that jacket. The colour doesn't suit you.


(A) I won't have
(C) you wouldn't wear


(B) I'd prefer

(D) I wouldn't buy
The correct answer is D
If I were you, I wouldn't buy that jacket. The colour doesn't suit you.
47. What do children say when they go from house to house at Halloween?


(A) “Food or fun!”
(C) “Ghost or gift!”


(B) “Trick or treat!”
(D) “Nasty or nice!”
The correct answer is B
“Trick or treat!”
48. She accepted his offer. A week later, ..... , she changed her mind.


(A) although
(C) so much


(B) during
(D) however
The correct answer is D
She accepted his offer. A week later, however, she changed her mind.
49. It's so cold in winter. I wish ............ in a warmer country.


(A) we lived
(C) that we live


(B) for living
(D) we can live
The correct answer is A
It's so cold in winter. I wish we lived in a warmer country.
50. .... was an American diplomat who discovered a lot about electricity.


(A) George Washington
(C) Winston Churchill


(B) Benjamin Franklin
(D) James Watt
The correct answer is B
Benjamin Franklin was an American diplomat who discovered a lot about electricity.
51. Like all fairy stories, everything turned ..... right in the end.


(A) out

(C) away


(B) up

(D) over
The correct answer is A
Like all fairy stories, everything turned out right in the end.
52. The kitchen floor needs ....................... twice a week.


(A) washing
(C) be washing


(B) to wash
(D) to be washing
The correct answer is A
The kitchen floor needs washing twice a week.
53. His tooth hurt a lot, so he went to the dentist's and .... out.


(A) had taken it
(C) had it taken


(B) took it

(D) had it to take
The correct answer is C
His tooth hurt a lot, so he went to the dentist's and had it taken out.
54. The Washington Post is ......................................


(A) a high-speed train

(C) a daily newspaper


(B) a historical building
(D) a stone column
The correct answer is C
The Washington Post is a daily newspaper.
